

A functional analytic approach towards nonlinear dissipative well-posed systems

Birgit Jacob* and Hans Zwart†

March 4, 2010

Abstract

The aim of this paper is to develop a functional analytic approach towards nonlinear systems. For linear systems this is well known and the resulting class of well-posed and regular linear systems is well studied. Our approach is based on the theory of nonlinear semigroup and we explain it by means of an example, namely equations of quasi-hyperbolic type.

1 Equations of quasi-hyperbolic type

Let $\psi : \mathbb{R} \rightarrow \mathbb{R}$ be a strictly monotone decreasing surjective function with $\psi(0) = 0$. Associated to this function, we consider the following partial differential equation on the spatial interval $[0, 1]$,

$$\begin{aligned}\frac{\partial f}{\partial t}(t, \eta) &= \frac{\partial \psi(f)}{\partial \eta}(t, \eta), \quad 0 < \eta < 1, t > 0, \\ f(0, \eta) &= f_0(\eta), \quad 0 < \eta < 1, \\ f(t, 0) &= 0, \quad t > 0.\end{aligned}\tag{1}$$

As output we define

$$y(t) = \psi(f(t, 1)).\tag{2}$$

We want to show that (1)–(2) defines a dissipative system. In particular, this will imply that the output y is a function in $L^1(0, \infty)$.

*Department of Mathematics, University of Dortmund, D-44221 Dortmund, Germany, birgit.jacob@math.uni-dortmund.de

†Department of Applied Mathematics, University of Twente, P.O. 217, 7500 AE Enschede, The Netherlands, h.j.zwart@math.utwente.nl

As state space we choose $X = L^1(0, 1)$ and we choose $L^1_{\text{loc}}(0, \infty)$ as our space of output signals. In [4, p.110] it is shown that $A : D(A) \subset L^1(0, 1) \rightarrow L^1(0, 1)$, given by

$$(Af)(\eta) := \frac{d\psi(f(\eta))}{d\eta}, \quad f \in D(A),$$

$$D(A) := \{f \in C[0, 1] \mid f(0) = 0, \psi(f) \text{ is absolutely continuous on } [0, 1]\}$$

is an m-dissipative operator on X . Associated to this m-dissipative operator we can define a semigroup $(T(t))_{t \geq 0}$ of nonlinear contractions on X . This semigroup is defined as

$$T(t)f_0 = \lim_{\lambda \downarrow 0} (I - \lambda A)^{-[t/\lambda]} f_0. \quad (3)$$

Unfortunately, in general A is not the infinitesimal generator of this semigroup, see [4, p. 104]. However, if f is a classical solution of the Cauchy problem $\dot{f} = Af$, $f(0) = f_0$, then $f(t) = T(t)f_0$. Furthermore, if $f_0 \in D(A)$ and $(T(t)f_0)_{t \geq 0}$ is strongly differentiable a.e., then this function is the unique solution of the Cauchy problem $\dot{f} = Af$, $f(0) = f_0$. In general, $(T(t)f_0)_{t \geq 0}$ only is an integral solution.

Using the method of characteristics, it can be shown that for smooth functions f_0 the partial differential equation (1) has on some interval $[0, t_0)$ a classical solution. This solution equals $T(t)f_0$ for $t \in [0, t_0)$, [2, p. 189]. Thus the output — as given in (2) — is well-defined on some interval $[0, t_0)$ provided f_0 is smooth. Dissipativity of a system now guarantees L^1 -outputs and that the system generates no energy.

Definition 1.1 *We say that the system (1)–(2) is dissipative, if there exists a mapping $\mathcal{C} : L^1(0, 1) \rightarrow L^1(0, \infty)$ satisfying*

1. *If for $f_0 \in L^1(0, 1)$ and $t_0 > 0$ the partial differential equation (1) possesses a classical solution on $[0, t_0]$, then $(\mathcal{C}f_0)(t) = \psi((T(t)f_0)(1))$ for $t \in [0, t_0]$.*
2. *For any $t, s \geq 0$ and every $f_0 \in L^1(0, 1)$ we have*

$$P_{t+s}\mathcal{C}f_0 = P_s\mathcal{C}f_0 + S_r(s)P_t\mathcal{C}T(s)f_0.$$

3. *For $f_0, f_1 \in L^1(0, 1)$ and for every $t_0 > 0$ we have*

$$\|\mathcal{C}f_0 - \mathcal{C}f_1\|_{L^1(0, t_0)} \leq \|f_0 - f_1\|_{L^1(0, 1)} - \|T(t_0)f_0 - T(t_0)f_1\|_{L^1(0, 1)}. \quad (4)$$

Here $P_t \in \mathcal{L}(L^1(0, \infty))$ is the projection onto the interval $[0, t]$ and $S_r(t) \in \mathcal{L}(L^1(0, \infty))$ is the right-shift by t . As mentioned above, if f_0 is smooth then there exists an interval on which (1) has a classical solution. On this interval this classical solution equals $T(t)f_0$. Hence from item 1. and equation (2) we see that y equals $\mathcal{C}f_0$ on this time-interval. For general f_0 we call the function $\mathcal{C}f_0$ the "generalized" output of system (1)–(2). The main result of this article is as follows.

Theorem 1.2 *System (1)–(2) is dissipative.*

The proof of this theorem will be given at the end of the section. The following lemma will be useful.

Lemma 1.3 *Let ϕ be a strictly monotone decreasing surjective function from \mathbb{R} to \mathbb{R} with $\phi(0) = 0$, let $-\infty \leq a < b \leq \infty$ and let $A_\phi : D(A_\phi) \subset L^1(a, b) \rightarrow L^1(a, b)$ be defined by*

$$(A_\phi f)(\eta) := \frac{d\phi(f(\eta))}{d\eta}, \quad f \in D(A_\phi),$$

$D(A_\phi) := \{f \in L^1(a, b) \mid \phi(f) \text{ is absolutely continuous on } [a, b] \text{ and } \phi(f)' \in L^1(a, b)\}$.

Then we have

$$\begin{aligned} & \|f_1 - f_2 - \lambda(A_\phi f_1 - A_\phi f_2)\|_{L^1(a, b)} \\ & \geq \|f_1 - f_2\|_{L^1(a, b)} + \lambda|\phi(f_1(b)) - \phi(f_2(b))| - \lambda|\phi(f_1(a)) - \phi(f_2(a))|. \end{aligned}$$

for all $\lambda > 0$ and all $f_1, f_2 \in D(A)$.

If $a = -\infty$, then $f_1(a) = f_2(a) = 0$ in the above inequality. A similar remark holds if $b = \infty$.

The proof of this lemma follows largely [4, page 110–111].

Proof: We define the functions $p_n : \mathbb{R} \rightarrow \mathbb{R}$, $n \in \mathbb{N}$, by

$$p_n(\eta) := \begin{cases} -n\eta & |\eta| \leq 1/n \\ -\text{sign } \eta & |\eta| > 1/n \end{cases}.$$

It is easy to see that the functions p_n are monotone decreasing, Lipschitz continuous, $p_n(0) = 0$ and $|p_n(\eta)| \leq 1$ for every $\eta \in \mathbb{R}$ and every $n \in \mathbb{N}$. Let $f_1, f_2 \in D(A)$ and $\lambda > 0$ be arbitrarily. Then we have for every $n \in \mathbb{N}$

$$\begin{aligned} & \int_a^b (Af_1 - Af_2) p_n(\phi(f_1(\eta)) - \phi(f_2(\eta))) d\eta \\ & = \int_a^b (\phi(f_1(\eta)) - \phi(f_2(\eta)))' p_n(\phi(f_1(\eta)) - \phi(f_2(\eta))) d\eta \\ & = \int_a^b \frac{d}{d\eta} (q_n(\phi(f_1(\eta)) - \phi(f_2(\eta)))) d\eta \\ & = q_n(\phi(f_1(b)) - \phi(f_2(b))) - q_n(\phi(f_1(a)) - \phi(f_2(a))), \end{aligned}$$

where $q_n(s) := \int_0^s p_n(\eta) d\eta$, and thus

$$\begin{aligned}
& \int_a^b |f_1 - f_2 - \lambda(Af_1 - Af_2)| d\eta \\
& \geq \int_a^b |f_1 - f_2 - \lambda(Af_1 - Af_2)| |p_n(\phi(f_1) - \phi(f_2))| d\eta \\
& \geq \int_a^b (f_1 - f_2 - \lambda(Af_1 - Af_2)) p_n(\phi(f_1) - \phi(f_2)) d\eta \\
& \geq \int_a^b (f_1 - f_2) p_n(\phi(f_1) - \phi(f_2)) d\eta - \lambda \int_a^b (Af_1 - Af_2) p_n(\phi(f_1) - \phi(f_2)) d\eta \\
& \geq \int_a^b (f_1(\eta) - f_2(\eta)) p_n(\phi(f_1(\eta)) - \phi(f_2(\eta))) d\eta \\
& \quad + \lambda q_n(\phi(f_1(a)) - \phi(f_2(a))) - \lambda q_n(\phi(f_1(b)) - \phi(f_2(b))).
\end{aligned}$$

Now p_n converges pointwise to $p(\eta) = -\text{sign } \eta$ and thus by Lebesgue Dominated Convergence Theorem we finally have

$$\begin{aligned}
& \int_a^b |f_1 - f_2 - \lambda(Af_1 - Af_2)| d\eta \\
& \geq \int_a^b |f_1(\eta) - f_2(\eta)| d\eta + \lambda |\phi(f_1(b)) - \phi(f_2(b))| - \lambda |\phi(f_1(a)) - \phi(f_2(a))|.
\end{aligned}$$

In the last step we used that ϕ is strictly monotone decreasing. ■

Now we define the mapping $A_e : D(A_e) \subset X \times L^1(0, \infty) \rightarrow X \times L^1(0, \infty)$ by

$$A_e \begin{pmatrix} f \\ y \end{pmatrix} = \begin{pmatrix} Af \\ -y' \end{pmatrix} \quad (5)$$

$$D(A_e) = \left\{ \begin{pmatrix} f \\ y \end{pmatrix} \in D(A) \times W^{1,1}(0, \infty) \mid y(0) = \psi(f(1)) \right\}. \quad (6)$$

This operator is m -dissipative on $L^1(0, 1) \times L^1(0, \infty)$, where the norm on this product space is the sum of the separate norms.

Theorem 1.4 *The operator A_e as defined in (5) and (6) is m -dissipative on $L^1(0, 1) \times L^1(0, \infty)$.*

Proof First we prove that A_e is dissipative, that is, for all $\lambda > 0$ and all $z_1, z_2 \in D(A_e)$ we have

$$\|z_1 - z_2 - \lambda(A_e z_1 - A_e z_2)\| \geq \|z_1 - z_2\|.$$

Thus let $\lambda > 0$ and $\begin{pmatrix} f_1 \\ y_1 \end{pmatrix}, \begin{pmatrix} f_2 \\ y_2 \end{pmatrix} \in D(A_e)$ be arbitrarily. Applying Lemma 1.3 to the operator A and noting that $f_1, f_2 \in D(A)$ we get

$$\begin{aligned} & \|f_1 - f_2 - \lambda(Af_1 - Af_2)\|_{L^1(0,1)} \\ & \geq \|f_1 - f_2\|_{L^1(0,1)} + \lambda|\psi(f_1(1)) - \psi(f_2(1))| - \lambda|\psi(f_1(0)) - \psi(f_2(0))| \\ & = \|f_1 - f_2\|_{L^1(0,1)} + \lambda|y_1(0) - y_2(0)|, \end{aligned} \quad (7)$$

since $f_1, f_2 \in D(A)$ and $\begin{pmatrix} f_1 \\ y_1 \end{pmatrix}, \begin{pmatrix} f_2 \\ y_2 \end{pmatrix} \in D(A_e)$. Choosing $a = 0, b = \infty, \phi(s) := -s, s \in \mathbb{R}$ in Lemma 1.3 and noting that $y_1, y_2 \in W^{1,1}(0, \infty)$ we get

$$\|y_1 - y_2 - \lambda(-\dot{y}_1 + \dot{y}_2)\|_{L^1(0,\infty)} \geq \|y_1 - y_2\|_{L^1(0,\infty)} - \lambda|y_1(0) - y_2(0)|. \quad (8)$$

Finally, combining (7) and (8) gives for $\begin{pmatrix} f_1 \\ y_1 \end{pmatrix}, \begin{pmatrix} f_2 \\ y_2 \end{pmatrix} \in D(A_e)$

$$\begin{aligned} & \left\| \begin{pmatrix} f_1 \\ y_1 \end{pmatrix} - \begin{pmatrix} f_2 \\ y_2 \end{pmatrix} - \lambda \left(A_e \begin{pmatrix} f_1 \\ y_1 \end{pmatrix} - A_e \begin{pmatrix} f_2 \\ y_2 \end{pmatrix} \right) \right\| \\ & = \|f_1 - f_2 - \lambda(Af_1 - Af_2)\|_{L^1(0,1)} + \|y_1 - y_2 - \lambda(-\dot{y}_1 + \dot{y}_2)\|_{L^1(0,\infty)} \\ & \geq \|f_1 - f_2\|_{L^1(0,1)} + \|y_1 - y_2\|_{L^1(0,\infty)} \\ & = \left\| \begin{pmatrix} f_1 \\ y_1 \end{pmatrix} - \begin{pmatrix} f_2 \\ y_2 \end{pmatrix} \right\|. \end{aligned}$$

Thus A_e is dissipative on $L^1(0, 1) \times L^1(0, \infty)$.

In order to show that A_e is m-dissipative on $L^1(0, 1) \times L^1(0, \infty)$ it remains to prove that the range of $I - A_e$ equals $L^1(0, 1) \times L^1(0, \infty)$. Let $\begin{pmatrix} \tilde{f} \\ \tilde{y} \end{pmatrix} \in L^1(0, 1) \times L^1(0, \infty)$ be arbitrarily. Since A is m-dissipative on $L^1(0, 1)$, see [4], we have that the range of $(I - A)$ equals $L^1(0, 1)$. Thus there exists $f \in D(A)$ such that

$$(I - A)f = \tilde{f}.$$

We now define $y \in L^1(0, \infty)$ by

$$y(t) := e^{-t}\psi(f(1)) + \int_0^t e^{-(t-s)}\tilde{y}(s) ds.$$

It is easy to see that

$$y(t) + \dot{y}(t) = \tilde{y}(t) \quad \text{and} \quad y(0) = \psi(f(1)).$$

Thus $\begin{pmatrix} f \\ y \end{pmatrix} \in D(A_e)$ and $(I - A_e)\begin{pmatrix} f \\ y \end{pmatrix} = \begin{pmatrix} \tilde{f} \\ \tilde{y} \end{pmatrix}$. This proves that A_e is m-dissipative on $L^1(0, 1) \times L^1(0, \infty)$. This completes the proof. \blacksquare

The following lemma is easy to verify.

Lemma 1.5 *Let $\begin{pmatrix} f_0 \\ y_0 \end{pmatrix} \in D(A_e)$ and $t_0 > 0$. Then the partial differential equation (1) possesses a classical solution on the interval $t \in [0, t_0]$ if and only if the Cauchy problem*

$$\frac{d}{dt} \begin{pmatrix} f(t) \\ y(t) \end{pmatrix} = \begin{pmatrix} Af(t) \\ -\frac{d}{ds}(y(t)) \end{pmatrix}.$$

has a classical solution on the interval $[0, t_0]$.

Let $T_e(t)$ be the semigroup associated to A_e , i.e.,

$$T_e(t) \begin{pmatrix} f_0 \\ y \end{pmatrix} = \lim_{\lambda \downarrow 0} (I - \lambda A_e)^{-[t/\lambda]} \begin{pmatrix} f_0 \\ y \end{pmatrix}. \quad (9)$$

and let $T(t)$ be the semigroup associated to A , see (3). An easy calculation shows that for $\lambda > 0$ and $\begin{pmatrix} f_0 \\ y_0 \end{pmatrix} \in L^1(0, 1) \times L^1(0, \infty)$ we have

$$(I - \lambda A_e)^{-1} \begin{pmatrix} f_0 \\ y_0 \end{pmatrix} = \begin{pmatrix} (I - \lambda A)^{-1} f_0 \\ e^{-/\lambda} \psi((I - \lambda A)^{-1} f_0)(1) + (I - \lambda D_R)^{-1} y_0 \end{pmatrix},$$

where $D_R f := -f'$. Thus similar as the non-linear operator A_e , the resolvent operator has the nice property that

$$(I - \lambda A_e)^{-1} \begin{pmatrix} f_0 \\ y_0 \end{pmatrix} = (I - \lambda A_e)^{-1} \begin{pmatrix} f_0 \\ 0 \end{pmatrix} + (I - \lambda A_e)^{-1} \begin{pmatrix} 0 \\ y_0 \end{pmatrix}.$$

Furthermore, since D_R is a linear operator, the resolvent is linear in the second component. Using this, equation (9), (3), and the fact that D_R is the infinitesimal generator of the right-shift semigroup $(S_r(t))_{t \geq 0}$ we obtain that $T_e(t)$ is given by

$$T_e(t) \begin{pmatrix} f_0 \\ y_0 \end{pmatrix} = \begin{pmatrix} T(t)f_0 \\ \mathcal{Q}_t f_0 + S_r(t)y_0 \end{pmatrix} \quad (10)$$

for some mapping \mathcal{Q}_t from $L^1(0, 1)$ to $L^1(0, \infty)$. Since $(T_e(t))_{t \geq 0}$ is a contraction semigroup, we have

$$\|\mathcal{Q}_t f_0 - \mathcal{Q}_t f_1\|_{L^1(0, \infty)} \leq \|f_0 - f_1\|_{L^1(0, 1)} - \|T(t)f_0 - T(t)f_1\|_{L^1(0, 1)}. \quad (11)$$

Moreover, the semigroup property implies

$$\mathcal{Q}_{t+s} f_0 = \mathcal{Q}_t T(s) f_0 + S_r(t) \mathcal{Q}_s f_0 \quad (12)$$

Theorem 1.6 For $\begin{pmatrix} f_0 \\ y_0 \end{pmatrix} \in D(A_e)$ such that the partial differential equation (1) possesses a classical solution on some interval $[0, t_0]$ we have that for $t \in [0, t_0]$

$$(\mathcal{Q}_t f_0)(\rho) = \begin{cases} \psi((T(t - \rho) f_0)(1)), & \text{for } \rho \in [0, t] \\ 0 & \text{for } \rho > t. \end{cases}$$

Proof Let $\begin{pmatrix} f_0 \\ y_0 \end{pmatrix} \in D(A_e)$ arbitrarily such that the partial differential equation (1) possesses a classical solution on some interval $[0, t_0]$. Then $\begin{pmatrix} f(t) \\ y(t) \end{pmatrix} := T_e(t) \begin{pmatrix} f_0 \\ y_0 \end{pmatrix}$ is a classical solution of $\dot{z}(t) = A_e z(t)$ on $[0, t_0]$ and thus $f(t) = T(t)f_0$. The second equation equals the partial differential equation

$$\frac{\partial y(t)(s)}{\partial t} = -\frac{\partial y(t)(s)}{\partial s}, \quad 0 \leq t \leq t_0, \quad s \geq 0.$$

with initial condition $(y(0))(s) = y_0(s)$. The solution equals $(y(t))(s) = g(t-s)$, $s > 0$ and $t \in [0, t_0]$, for some function $g \in W^{1,1}(-\infty, t_0)$ with $g(-s) = y_0(s)$ for $s > 0$. Since $\begin{pmatrix} f(t) \\ y(t) \end{pmatrix} \in D(A_e)$, we see that $(y(t))(0) = \psi((f(t))(1))$ for $t \in [0, t_0]$. Thus

$$g(t) = \psi((f(t))(1)) \quad t \in [0, t_0].$$

By equation (10) we have that $y(t) = \mathcal{Q}_t f_0 + S_r(t)y_0$. Combining this with the results above, implies that for $s \in [0, t]$ and $t \leq t_0$

$$\begin{aligned} \psi((f(t-s))(1)) &= g(t-s) = (y(t))(s) \\ &= (\mathcal{Q}_t f_0 + S_r(t)y_0)(s) = (\mathcal{Q}_t f_0)(s). \end{aligned} \quad (13)$$

For $s > t$ and $t \leq t_0$, we have that

$$\begin{aligned} y_0(s-t) &= g(t-s) = (y(t))(s) \\ &= (\mathcal{Q}_t f_0 + S_r(t)y_0)(s) = (\mathcal{Q}_t f_0)(s) + y_0(s-t). \end{aligned} \quad (14)$$

This implies that $(\mathcal{Q}_t f_0)(s) = 0$ for $s > t$, whenever $t \in [0, t_0]$. Combining this with equation (13) gives the expression for \mathcal{Q}_t . \blacksquare

Lemma 1.7 *If $f_0 \in L^1(0, 1)$ and $t > 0$, then we have $(\mathcal{Q}_t f_0)(\rho) = 0$ for a.e. $\rho > t$.*

Proof: Let $f_0 \in L^1(0, 1)$ and $t > 0$ be arbitrarily. Then definitions of A and A_e imply

$$(I - \lambda A)^{-1}0 = 0 \text{ and } (I - \lambda A_e)^{-1} \begin{pmatrix} 0 \\ 0 \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

for every $\lambda > 0$. This together with the fact that A_e is m -dissipative shows

$$\|(I - \lambda A_e)^{-1} \begin{pmatrix} f \\ y \end{pmatrix}\| \leq \left\| \begin{pmatrix} f \\ y \end{pmatrix} \right\|, \quad \lambda > 0, f \in L^1(0, 1), y \in L^1(0, \infty). \quad (15)$$

Moreover, for $\begin{pmatrix} f \\ y \end{pmatrix} \in L^1(0, 1) \times L^2(0, \infty)$ we have

$$(I - \lambda A_e)^{-1} \begin{pmatrix} f \\ y \end{pmatrix} = \begin{pmatrix} (I - \lambda A)^{-1} f \\ e^{-\cdot/\lambda} \Psi(((I - \lambda A)^{-1} f)(1)) + (I - \lambda D_R)^{-1} y \end{pmatrix}$$

and

$$(I - \lambda A_e)^{-n} \begin{pmatrix} f \\ y \end{pmatrix} = \begin{pmatrix} (I - \lambda A)^{-n} f \\ e^{-\cdot/\lambda} \sum_{k=0}^{n-1} \frac{(\cdot)^k}{k! \lambda^k} \Psi(((I - \lambda A)^{-(n-k)} f)(1)) + (I - \lambda D_R)^{-n} y \end{pmatrix}.$$

We note, that $(I - \lambda D_R)^{-k} e^{-\cdot/\lambda} = \frac{(\cdot)^k}{k! \lambda^k} e^{-\cdot/\lambda}$. Thus equation (15) implies

$$\begin{aligned} \|f_0\|_{L^1(0,1)} &\geq \|(I - \lambda A)^{-1} f_0\|_{L^1(0,1)} + \lambda |\Psi(((I - \lambda A)^{-1} f_0)(1))| \\ (15) \quad &\geq \|(I - \lambda A)^{-2} f_0\|_{L^1(0,1)} + \lambda |\Psi(((I - \lambda A)^{-2} f_0)(1))| \\ &\quad + \lambda |\Psi(((I - \lambda A)^{-1} f_0)(1))| \\ &\geq \|(I - \lambda A)^{-n} f_0\|_{L^1(0,1)} + \lambda \sum_{j=1}^n |\Psi(((I - \lambda A)^{-j} f_0)(1))|. \end{aligned}$$

In particular, for $\lambda = t/n$ we get

$$\frac{t}{n} \sum_{j=1}^n |\Psi(((I - \lambda A)^{-j} f_0)(1))| \leq \|f_0\|. \quad (16)$$

We now define the function $g_n \in L^1(0, \infty)$ by

$$g_n(s) = e^{-\frac{sn}{t}} \sum_{k=0}^{n-1} \frac{n^k s^k}{k! t^k} \Psi\left(\left(\left(I - \frac{t}{n} A\right)^{-(n-k)} f_0\right)(1)\right).$$

We know already that

$$\lim_{n \rightarrow \infty} \|g_n - \mathcal{Q}_t f_0\|_{L^1(0, \infty)} = 0.$$

Thus by Lebesgue's theorem it remain to show that

$$g_n(s) \rightarrow 0 \text{ for almost every } s > t.$$

For $s > t$ we have

$$\begin{aligned} |g_n(s)| &\leq e^{-\frac{sn}{t}} \sum_{k=0}^{n-1} \frac{n^k s^k}{k! t^k} |\Psi\left(\left(\left(I - \frac{t}{n} A\right)^{-(n-k)} f_0\right)(1)\right)| \\ &\leq e^{-\frac{sn}{t}} \sup_{k=0}^{n-1} \left(\frac{n^k s^k}{k! t^k}\right) \sum_{k=0}^{n-1} |\Psi\left(\left(\left(I - \frac{t}{n} A\right)^{-(n-k)} f_0\right)(1)\right)| \\ (16) \quad &\leq \|f_0\| \frac{n}{t} e^{-\frac{sn}{t}} \frac{n^{n-1} s^n}{n! t^n} \quad \text{since } s > t \\ &\leq \|f_0\| \frac{n}{s} e^{-\frac{sn}{t}} \frac{n^n s^n}{n! t^n} \\ &\leq \frac{\|f_0\|}{\sqrt{2\pi s}} \sqrt{n} e^n e^{-\frac{sn}{t}} \left(\frac{s}{t}\right)^n \quad (\text{by Stirlings formula } n^n/n! \leq e^n/\sqrt{2\pi n}) \\ &= \frac{\|f_0\|}{\sqrt{2\pi s}} \sqrt{n} \exp\left(n \left\{1 - \frac{s}{t} + \log \frac{s}{t}\right\}\right) \\ &\rightarrow 0 \text{ for } n \rightarrow \infty \quad \text{since } s > t). \end{aligned}$$

■

Proof of Theorem 1.2: We define the mapping \mathcal{C}_t as

$$\mathcal{C}_t = R(t)\mathcal{Q}_t, \quad (17)$$

where $R(t) \in \mathcal{L}(L^1(0, \infty))$ is defined by $(R(t)f)(s) = f(t - s)$ if $0 \leq s \leq t$ and $(R(t)f)(s) = 0$, otherwise. Since \mathcal{Q}_t has its support in $[0, t]$, we have that $\mathcal{Q}_t = R(t)\mathcal{C}_t$. Using this and (12) we find that

$$\mathcal{C}_{t+s}f_0 = \mathcal{C}_s f_0 + S_r(s)\mathcal{C}_t T(s)f_0.$$

Since by the definition of \mathcal{C}_t we have that $P_t\mathcal{C}_t = \mathcal{C}_t$ we have that the above equality is equivalent to

$$P_{t+s}\mathcal{C}_{t+s}f_0 = P_s\mathcal{C}_s f_0 + S_r(s)P_t\mathcal{C}_t T(s)f_0. \quad (18)$$

In particular, this shows $(\mathcal{C}_{t+s}f_0)(\rho) = (\mathcal{C}_s f_0)(\rho)$, a.e. $\rho \in [0, s]$ for any $t, s > 0$. Thus we can define $\mathcal{C} : L^1(0, 1) \rightarrow L^1(0, \infty)$ by

$$(\mathcal{C}f_0)(\rho) = (\mathcal{C}_t f_0)(\rho), \quad t > \rho. \quad (19)$$

Using this and equations (17), (11) it is easy to see that

$$\|\mathcal{C}f_0 - \mathcal{C}f_1\|_{L^1(0,t)} \leq \|f_0 - f_1\|_{L^1(0,1)} - \|T(t)f_0 - T(t)f_1\|_{L^1(0,1)}. \quad (20)$$

Hence we have shown that item 2. and 3. of Definition 1.1 hold. In Theorem 1.6 we have shown that it also satisfies item 1. Thus our system is dissipative. ■

References

- [1] R.F. Curtain and H. Zwart. *An introduction to infinite-dimensional linear systems theory*. Texts in Applied Mathematics, Volume 21, Springer-Verlag, 1995.
- [2] A. Belleni-Morante and A.C. McBride. *Applied Nonlinear Semigroups*. John Wiley & Sons, 1998.
- [3] F. Callier and P. Grabowski. Admissible observation operators. Semigroup criteria of admissibility. *Integral Equations Oper. Theory* 25(2):182-198, 1996.
- [4] I. Miyadera. *Nonlinear Semigroups*. Translation of Mathematical Monographs, Volume 109, AMS 1992.
- [5] O.J. Staffans. *Well-Posed Linear Systems I: General Theory*. Manuscript, Draft available at <http://www.abo.fi/~staffans/publ.htm>
- [6] G. Weiss. Admissible observation operators for linear semigroups. *Israel Journal of Mathematics*. 65(1):17-43, 1989.